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Question 1: Divide the first polynomial by the second polynomial in each of the following. Also, write the quotient and remainder :

3xHAx+5

(i) x—2

Soln:
3x2+H4x+5

x—2

3x(x-2)+10(x=2)+25
x—2

_3x(x—2)+10(x—2)+25
x—2

Gx+10)+ =

Therefore,

Quotient = 3x+10 and remainder = 25

10x*—7x+8
(“) 5x—3

Soln:

2x(5%-3)~£(5x-3)+ &
5x—3

(5x-3)(2x—1)(5x-3)+2

5x—3

47

5

=(2x- 1)+

5x—3

Therefore , quotient= (2X — é) and remainder = %

... Sy —6y*+6y—1
) —-
( ) Sy—-1

Soln:
Sy3—6y2+6y—1
Sy-1

y2(5y—1)-y(Sy—1)+1(5y—1)
Sy—1

(Sy=D(y*~y+1)
Sy—-1

y2-y+1+5

Therefore quotient = yz_y+1

And remainder = 0



xt—xP+5x
x—1

(iv)
Soln:
X(x—D)+H5(x—1)+5

x—1

_ (+5)(x—1)+5

x—1

3 5
X +5)+—=
Therefore, quotient = x>+5 and remainder= 5

)
y*-2

(v)
Soln:

vy
y*-2

_ Y)B(72)t6
¥ -2

62e3)
-

2.1 6
(y +3)+yz—_2

Therefore, quotient = y>+3 and remainder = 6

Question 2: Find whether, or not the first polynomial is a factor of the second:

2x2+5x+4

O

Soln:

o 2x(xHD)F3(xFD)FL)
N x+1

_ (x+D)@2x+3)+1)
N x+1

Therefore, (x+1) is not a factor of 2x>+5x+4

3y +5y2+5y+2
y—2

(i)

Soln:
3y +5y2+5y+2
y—2

3y> (y=2)H1 1y(y=2)+27(y=2)+56
y—2




_ 2By 11y+27)+56
y—2

= (3y2+1ly 36
Gy 1y 27) + =25

Therefore, (y-2) is not a factor of 3y>+5y>+35y+2

(iii) 4x*+12x2+15
4x2-5

Soln:

Ax12x2+15
4x2-5

X2(4x2—5)+3(4x2—5)+30
4x2-5

30
4x2-5

(x43) +

Therefore , (4x>-5) is not a factor of 4x*+7x%+15

. 3z2—13z+4
V) —=—

Soln:
372-13z+4
4—z

_ 3z(z4)-1(z4)
-—

_ (z4HBz )
=—

_ (4-2)(1-32)
-

=1-3z

Therefore, remainder =0

(4-2) is a factor of the factor of 3z%-13z+4

10a2—9a—5
™) —5

Soln:
10a2-9a—5
2a-3

_ 5a(2a-3)+3(2a-3)
- 2a—3



_ (2a-3)(Sat3)+4
B 223

— 4
= (sa+3) + =

Therefore, remainder =4

(2a-3) is not a factor of the equation 10a>-9a-5

8y2-2y+1
4y+1

(vi)
Soln:

o 2y(4y+D)-1(dy+1)+2
B 4y+1

_ @ythy-1)2
-

2
4y+1

=2y-1+

Therefore, remainder =2

(4y+1) is not a factor of 8y2-2y+1



